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CIAR=0.6 (1=1R_,=0.3,y, =9%)
CIAR=06 (1=1R_,=0.3y, =4%)

8 CIAR=0.6 (4=1R_,=0.3)y_ =0%)

5 CIAR=0.8 (W=1R_ =0.3)y_ =9%) @

= CIAR=0.8 (1=1R_,=0.3)y =4%) 4

Li CIAR=0.8 (W=1R_,=0.3)y_=0%) : v g o
= C/AR=1.2 (u=1,R_ =0.3y =15%) 153 1
Q_ sub filt +03 +03
w

CIAR=1.2 (1=1R_,=03,y, =12%)
C/IAR=1.2 (u:l,Rsub=0.3,yﬁ"=9%)
CIAR=1.2 (1=1R_,=03,y, =4%) 5 103 4 148 108 126 153
CIAR=L2 (1=LR =03y, =0%) [E8, s, 4o, 8818, 1, o2, 53, 8, o2, 78, 78, 43 1, 7 &, o, 72, 4,

C/AR=0.6 (R =0.5,Z =0.15)
cut cut
CIAR=0.6 (R_=0.5,Z =0.1)
cut cut
CIAR=0.8 (R =0.5,Z =0.15)
cut cut
C/IAR=0.8 (R =0.5Z =0.1)
cut cut
C/AR=1.0 (R =0.5Z =0.15)
cut cut
C/IAR=1.0(R =057 =0.1)
cut cut
C/IAR=12 (R =057 =0.15)
cut cut
C/IAR=1.2 (R =0.5,Z =0.1)
L S T
C/ARI06(~ =596.R. =0.2)
cut sub
anti-k, R=0.8 (f_ =5%R_,=0.2)
CIAR=0.8 (f_=5%,R =0.2)
cut sub
anti-k, R=1.0 (f_ =5%,R__ =0.3)
cut sub
anti-k, R=1.0 (f_=5%,R_,=0.2)
CIAR=1.0 (f =5%,R_=0.2)
cut sub
anti-k R=1.2 (f_ =5%,R_,=0.2)
C/AR=12(f =5%R_ =0.2)
cut sub
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Background rejection @ €547 = 50%



